095271000 02:15:30 PM 1.000m=fdiv £ 0.000 = 1k pt=

CHAN1

200_0mY idiv

Marker [CcHAMN1 j 1 |2_EIEEI‘H" &1 |-1.600ms
source

CHAN1 ﬂ 2 |EIEEI.I]I]I]m"I|I" ¥2 |-800.000us

A |-2.000¥ A |800.000us




095271000 02:15:30 PM 1.000m=fdiv £ 0.000 = 1k pt=

CHAN1

200_0mY idiv

Marker [CcHAMN1 j 1 |2_EIEEI‘H" #1 |-50.000us
source

CHAN1 ﬂ 2 |EIEEI.I]I]I]m"I|I" ¥2 [1.575ms=

A [-2.000¥ & |1.625ms




095271000 02:25:28 PM 10.00m=fdiv £ 0.000 = 1k pt=

CHAN1
200_0mY idiv

11 wide pulses and 41 narrow pulses, 11(1.625 msec) + 41(.8 msec) = 49.875 msec
20 log (49.875/100) = -6.04 dB duty cycle relaxation



